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] (H) (F5RS) (ppm) (ppm) | (BFED | (%) | (BFED [ (%) (H) (%) (H) (%) (ppm) (H)
AR AT AR RE  |EZRAR ] 357 8513 0.015 0.073 0 0.0 0 0.0 0 0.0 4 1.1 0.036 of O
ABRAF SFOT IO Tt a— 4] 364 8665 0.014 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.033 of O
AIRAF ZAT RATIRFT ] 343 8202 0.011 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.026 o O
ABRAF aam A PR 4 365 8660 0.011 0.059 0 0.0 0 0.0 0 0.0 0 0.0 0.024 of O
KIRAF AT MEATIIEESEE JE 365 8662 0.007 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.022 o O
ABRAF AR REMRA 1E 365 8662 0.010 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.028 of O
KB AF AR I EES R x 365 8656 0.006 0.045 0 0.0 0 0.0 0 0.0 0 0.0 0.012 o O
ABRAF BHigm BiIFAHLE % 365 8669 0.007 0.055 0 0.0 0 0.0 0 0.0 0 0.0 0.017 of O
KB AF =EASKET | BXETEE 53 363 8622 0.010 0.074 0 0.0 0 0.0 0 0.0 0 0.0 0.022 o O
RBRAF EHE#AT EBEAH&AN 5] 361 8616 0.006 0.043 0 0.0 0 0.0 0 0.0 0 0.0 0.015 of O
KB AF BRI L EE 1F 365 8670 0.004 0.045 0 0.0 0 0.0 0 0.0 0 0.0 0.014 o O
ABRAF RET SRETRAT % 365 8668 0.007 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.017 of O
KB AF MR R BNV 53 365 8665 0.006 0.043 0 0.0 0 0.0 0 0.0 0 0.0 0.014 o O
ABRAF AINRET =HHAREE |3 365 8659 0.004 0.044 0 0.0 0 0.0 0 0.0 0 0.0 0.011 of O
KB AF BHFMH BRAHFHER 53 360 8548 0.009 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.021 of O
ABRAF FMAfH FHAPRAR 1E 364 8641 0.008 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.021 of O
KB AF RIEHH B 53 366 8682 0.008 0.051 0 0.0 0 0.0 0 0.0 0 0.0 0.019 o O
ABRAF RAEM RAEM&A #T 363 8661 0.011 0.063 0 0.0 0 0.0 0 0.0 0 0.0 0.027 of O
KB AF SEERRSRE BRERTIR IS x 363 8613 0.004 0.035 0 0.0 0 0.0 0 0.0 0 0.0 0.009 o O
KB ABRAER [ HTERER % 365 8732 0.016 0.083 0 0.0 0 0.0 0 0.0 4 1.1 0.037 of O
KB ABRAAER |FR/MNER % 362 8712 0.015 0.066 0 0.0 0 0.0 0 0.0 3 0.8 0.036 o O
KPR AR | BN #£T 366 8735 0.013 0.073 0 0.0 0 0.0 0 0.0 0 0.0 0.032 of O
KB ABRTEFX  |HAFRER 53 366 8733 0.013 0.063 0 0.0 0 0.0 0 0.0 1 0.3 0.034 o O
KPR ABR B X AERER % 310 7411 0.013 0.079 0 0.0 0 0.0 0 0.0 0 0.0 0.032 of O
KB ABRAHER  |EE/NER 53 366 8735 0.013 0.067 0 0.0 0 0.0 0 0.0 0 0.0 0.033 of O
KPR AERFEZIR [EI/NER % 366 8740 0.015 0.072 0 0.0 0 0.0 0 0.0 3 038 0.033 of O
PN ABRTTEHFX |EERER 53 363 8676 0.013 0.078 0 0.0 0 0.0 0 0.0 1 0.3 0.032 o O
KB ABRMTAERKR | §ERER ] 366 8742 0.014 0.065 0 0.0 0 0.0 0 0.0 3 038 0.034 of O
PN AR IEEX NER/NER #T 343 8204 0.016 0.073 0 0.0 0 0.0 0 0.0 4 1.2 0.036 of O
KB ABRTBAX  |[ZREIL/NER % 366 8738 0.016 0.138 0 0.0 10 0.1 0 0.0 4 1.1 0.037 of O
AR AERFEZIR (EAHADRAR #ET 366 8734 0.019 0.069 0 0.0 0 0.0 0 0.0 9 25 0.040 of O
R RARX DREF 1x 366 8693 0.013 0.061 0 0.0 0 0.0 0 0.0 1 0.3 0.028 o O
bl WX JEF 1* 366 8692 0.012 0.063 0 0.0 0 0.0 0 0.0 1 0.3 0.028 of O
R RARX =% 53 366 8696 0.015 0.066 0 0.0 0 0.0 0 0.0 2 05 0.031 of O
il Rhmx E VN JE3 366 8694 0.006 0.041 0 0.0 0 0.0 0 0.0 0 0.0 0.014 of O
R RHEEX aiE 1x 366 8692 0.014 0.065 0 0.0 0 0.0 0 0.0 1 0.3 0.030 o O
i BWHRX EER 1= 366 8696 0.009 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.021 of O
R B X = 1F 366 8692 0.011 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.024 of O
1B BHEREX EJ 1* 366 8698 0.010 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.021 of O
il RhdbX 2 EE |3 332 7937 0.011 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.025 of O
Ll 2o S2hHIIAR #T 364 8665 0.011 0.065 0 0.0 0 0.0 0 0.0 0 0.0 0.027 of O
==l V4= UdELES i3] 362 8624 0.011 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.029 of O
i) 4z wE L H A E %
WwHE™ V4= wHTEHE * 351 8392 0.009 0.052 0 0 0 0 0 0 0 0 0.027 of O
PN EPN il EABRTEREE 52— [ 365 8658 0.012 0.055 0 0.0 0 0.0 0 0.0 0 0.0 0.031 of O
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BAMRT |RABRT BABRMALF [E3 364 8650 0.010 0.051 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
wA™ WA e 53 362 8633 0.010 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.026 o O
AT wAT WA TR 2] 349 8340 0.010 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
wA™ WA™ = /N | 53 361 8595 0.008 0.051 0 0.0 0 0.0 0 0.0 0 0.0 0.021 o O
=t =X =it 1F 315 7495 0.006 0.047 0 0.0 0 0.0 0 0.0 0 0.0 0.018 of O
Eh =X FEFR i 362 8645 0.008 0.045 0 0.0 0 0.0 0 0.0 0 0.0 0.022 o] O
amm =04 LA * 363 8654 0.015 0.073 0 0.0 0 0.0 0 0.0 0 0.0 0.029 of O
INEM J\EmM I\ETRER 5] 364 8594 0.011 0.058 0 0.0 0 0.0 0 0.0 1 0.3 0.031 o O
JAN:=hil J\EH 7K 1 364 8616 0.007 0.046 0 0.0 0 0.0 0 0.0 0 0.0 0.018 of O
EEIT |BRIIT FKH = 363 8663 0.010 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.024 of O
BERIW |BEMm EEIH&R ] 338 8027 0.010 0.062 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
aAah BAam = A HhE SRR 53 356 8594 0.014 0.062 0 0.0 0 0.0 0 0.0 0 0.0 0.028 o] O
REM REH RE AR |3 358 8641 0.008 0.047 0 0.0 0 0.0 0 0.0 0 0.0 0.022 of O
SFOH SO KBAIER ET 336 8342 0.013 0.071 0 0.0 0 0.0 0 0.0 0 0.0 0.031 of O
ME™ MET PIEM&RT % 283 6759 0.012 0.069 0 0.0 0 0.0 0 0.0 0 0.0 0.032 of O
PAE™ MEmM PEMm 53 305 7226 0.013 0.063 0 0.0 0 0.0 0 0.0 0 0.0 0.032 o O
R HE R & 362 8666 0.007 0.043 0 0.0 0 0.0 0 0.0 0 0.0 0.016 of O
ZATH ZAT BIR/MER 53 363 8626 0.008 0.048 0 0.0 0 0.0 0 0.0 0 0.0 0.021 o O
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PN P R B =] 5% P 15 B & 365 8641 0.014 0.055 0 0.0 0 0.0 0 0.0 0 0.0 0.030 o] O
KB AT SFOT N IREHK ] 365 8670 0.015 0.071 0 0.0 0 0.0 0 0.0 0 0.0 0.035 of O
KB AT NET RN 5] 365 8680 0.012 0.053 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
KBRAF EiEm EEmE&m #T 365 8670 0.016 0.068 0 0.0 0 0.0 0 0.0 0 0.0 0.032 o| O
KR FF RiEHH KIEAE # T 328 7832 0.009 0.052 0 0.0 0 0.0 0 0.0 0 0.0 0.020 o O
KR AF FFET KON T KRR TH % 365 8668 0.013 0.067 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
KR AF SAIANEE T SIRAINRE #T 335 8001 0.010 0.046 0 0.0 0 0.0 0 0.0 0 0.0 0.020 of O
KBRAF =Aam HEF—ILMBS £ 361 8603 0.012 0.057 0 0.0 0 0.0 0 0.0 0 0.0 0.026 of O
PN PN (A EEENE [ 362 8664 0.018 0.066 0 0.0 0 0.0 0 0.0 5 1.4 0.036 of O
N KRR |HEENER £ 365 8726 0.021 0.080 0 0.0 0 0.0 0 0.0 7 1.9 0.039 of O
PN KIEFEZIR (LR ER [i5] 366 8739 0.016 0.070 0 0.0 0 0.0 0 0.0 2 0.5 0.033 of O
KRR KEFREEX (MEERER #T 366 8740 0.019 0.063 0 0.0 0 0.0 0 0.0 4 1.1 0.037 o| O
PN KRB X AR/ NRINERR £ 324 7742 0.018 0.071 0 0.0 0 0.0 0 0.0 1 0.3 0.035 of O
KRR KIEFEERX [EEIAPNER [ 366 8741 0.016 0.083 0 0.0 0 0.0 0 0.0 3 038 0.036 o] O
ABRH KETERR [$EXER [ 334 7998 0.022 0.067 0 0.0 0 0.0 0 0.0 8 24 0.040 o] O
KRR KERFEZIR [F2IXER £ 366 8731 0.020 0.063 0 0.0 0 0.0 0 0.0 1 03 0.034 o] O
il RTIRX WH&RT [ 365 8682 0.015 0.054 0 0.0 0 0.0 0 0.0 0 0.0 0.028 o] O
il BHEX ER ES 330 7880 0.018 0.074 0 0.0 0 0.0 0 0.0 2 0.6 0.032 o] O
il Erdb X AR [i5] 366 8694 0.014 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.028 o] O
il b itkaal R F0:E 48 LU [ 365 8688 0.013 0.062 0 0.0 0 0.0 0 0.0 0 0.0 0.027 o] O
R RMERX ERAL #ET 366 8679 0.014 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.028 of O
R RHRX FIRA R #ET 364 8676 0.017 0.062 0 0.0 0 0.0 0 0.0 1 03 0.032 of O
=S 2 2hmFE [ 364 8676 0.012 0.059 0 0.0 0 0.0 0 0.0 0 0.0 0.030 o] O
=S 2 2o & eT [ 355 8473 0.011 0.061 0 0.0 0 0.0 0 0.0 0 0.0 0.028 o] O
wHET WA SRl G [ 364 8656 0.013 0.070 0 0.0 0 0.0 0 0.0 0 0.0 0.031 of O
BAMRT |RAMRT HARTIREGFERE L 2— [ 364 8660 0.016 0.062 0 0.0 0 0.0 0 0.0 0 0.0 0.034 of O
AT WA B2 #T 363 8635 0.015 0.058 0 0.0 0 0.0 0 0.0 0 0.0 0.033 of O
AT WA iR T 360 8616 0.015 0.075 0 0.0 0 0.0 0 0.0 0 0.0 0.032 of O
=il =i =R [ 361 8546 0.012 0.048 0 0.0 0 0.0 0 0.0 0 0.0 0.027 of O
INET J\ETH AFE ES 364 8637 0.013 0.062 0 0.0 0 0.0 0 0.0 1 0.3 0.030 o] O
J\NET J\ET A E F kit E3 364 8601 0.019 0.069 0 0.0 0 0.0 0 0.0 1 0.3 0.035 0] O
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ABRiT R RR ER PN & 357 8513 0.003 0.092 0.011 357 8513 0.018 0.139 0.046 84.4
SFOm SIS 1 =Tt A— i3] 364 8665 0.003 0.138 0.016 364 8665 0.017 0.187 0.047 81.2
AR RATIRFT [ 343 8202 0.002 0.110 0.011 343 8202 0.013 0.151 0.036 81.8
=AM = A RER &4 365 8660 0.002 0.048 0.007 365 8660 0.013 0.099 0.030 85.7
AMHETH METIIEASEE £ 365 8662 0.001 0.037 0.005 365 8662 0.008 0.071 0.027 89.2
AR AR % 365 8662 0.002 0.096 0.011 365 8662 0.012 0.140 0.039 83.9
taEH kv x 365 8656 0.001 0.036 0.002 365 8656 0.006 0.070 0.014 89.9
BiEm BiIEmAERE 53 365 8669 0.001 0.044 0.004 365 8669 0.008 0.090 0.020 874
= SR EAH EARET R % 363 8622 0.002 0.103 0.011 363 8622 0.012 0.177 0.033 81.4
EHE®H = HEMHER [ 361 8616 0.001 0.032 0.004 361 8616 0.007 0.064 0.017 85.5
i L E * 365 8670 0.001 0.038 0.003 365 8670 0.005 0.070 0.017 87.6
RET RET&R £ 365 8668 0.001 0.045 0.004 365 8668 0.008 0.087 0.020 85.2
FORT 7 EIDFER i 365 8665 0.001 0.018 0.002 365 8665 0.006 0.053 0.016 90.9
ARNEEHH =HmAREE £ 365 8659 0.000 0.018 0.002 365 8659 0.005 0.055 0.012 92.0
BEHFT BHFHEMR £ 360 8548 0.001 0.059 0.006 360 8548 0.010 0.098 0.027 87.0
e FEHRGRRARE * 364 8641 0.001 0.056 0.004 364 8641 0.010 0.111 0.024 88.0
RIEEHT R £ 366 8682 0.002 0.106 0.008 366 8682 0.010 0.141 0.027 80.7
RXEM RAENRA £T 363 8661 0.002 0.065 0.007 363 8661 0.012 0.125 0.031 87.1
SHERN S RERT SRERT RIS * 363 8613 0.001 0.019 0.003 363 8613 0.004 0.043 0.012 816
i PN A L IEX &L £ 365 8732 0.005 0.117 0.024 365 8732 0.021 0.166 0.060 75.1
i ABRmAER TEINFER * 362 8712 0.004 0.113 0.017 362 8712 0.020 0.168 0.050 77.3
il AlRTE)X T/ #T 366 8735 0.003 0.078 0.011 366 8735 0.016 0.121 0.041 80.5
il AR AR X BRI Ed 366 8733 0.005 0.087 0.014 366 8733 0.018 0.130 0.046 73.4
il ARHER AEHZER Ed 310 7411 0.005 0.120 0.018 310 7411 0.019 0.173 0.048 71.3
i REHEERX EEIINER £ 366 8735 0.004 0.091 0.013 366 8735 0.016 0.146 0.045 78.2
i ABRHELZIR  |ELDER 5 366 8740 0.004 0.089 0.017 366 8740 0.018 0.140 0.044 79.1
il A EEX b3l Lty Ed 363 8676 0.004 0.210 0.021 363 8676 0.018 0.279 0.049 755
il A B T 7 Al X SERER 2] 366 8742 0.003 0.081 0.013 366 8742 0.017 0.139 0.045 84.2
il AR X NER/NDER #ET 343 8204 0.004 0.103 0.018 343 8204 0.020 0.152 0.053 80.8
i ABRHERX ZHI/NER £ 366 8738 0.007 0.236 0.039 366 8738 0.023 0.343 0.070 68.9
i ARTEZIX |EERRAE HET 366 8734 0.007 0.205 0.035 366 8734 0.026 0.261 0.073 71.7
il EHiEX DIRF e 366 8693 0.002 0.105 0.010 366 8693 0.015 0.149 0.036 86.0
il T 7 B 54 366 8692 0.002 0.064 0.008 366 8692 0.014 0.097 0.036 86.2
il IR X == i 366 8696 0.003 0.098 0.012 366 8696 0.018 0.149 0.042 82.3
i WX =E £ 366 8694 0.000 0.024 0.002 366 8694 0.007 0.064 0.017 92.9
i X a2 * 366 8692 0.003 0.098 0.013 366 8692 0.017 0.151 0.042 82.4
il EHEX xR i 366 8696 0.001 0.035 0.004 366 8696 0.011 0.078 0.025 88.8
il WX R 54 366 8692 0.001 0.073 0.006 366 8692 0.012 0.111 0.029 89.5
il BHERX EJ5 54 366 8698 0.002 0.078 0.006 366 8698 0.012 0.107 0.026 85.9
i Wt X = [ 54 332 7937 0.002 0.088 0.007 332 7937 0.013 0.128 0.031 875
b 2o E2omiI AR # T 364 8665 0.002 0.097 0.012 364 8665 0.013 0.140 0.039 84.0
W 4=zl WHMEK [ 362 8624 0.002 0.063 0.011 362 8624 0.013 0.097 0.038 85.3
=il W HEH wHEmALEE =
WA Y HETH wHETSEHE * 351 8392 0.001 0.07 0.011 351 8392 0.011 0.102 0.035 88.2
E SN G E N i BARTAREE 2— B 365 8658 0.003 0.437 0.017 365 8658 0.015 0.490 0.048 79.8
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EPNTTNE PN BARMAAF 53 364 8650 0.002 0.077 0.010 364 8650 0.012 0.115 0.037 828
AT il ik x 362 8633 0.003 0.069 0.011 362 8633 0.013 0.100 0.037 78.7
Szl S@ahil WA 5] 349 8340 0.002 0.060 0.009 349 8340 0.012 0.093 0.034 83.8
WA @kl TR * 361 8595 0.001 0.065 0.006 361 8595 0.010 0.098 0.027 86.5
St kit =t il St * 315 7495 0.001 0.061 0.007 315 7495 0.008 0.091 0.024 825
i ot FEFRT % 362 8645 0.001 0.061 0.008 362 8645 0.009 0.090 0.030 86.9
=tk =Yhr e *x 363 8654 0.005 0.079 0.017 363 8654 0.020 0.116 0.043 75.8
J\ETH J\NETH I\ETREM 5] 364 8594 0.002 0.071 0.014 364 8594 0.014 0.114 0.044 82.3
\EH =0l K fth 364 8616 0.001 0.092 0.008 364 8616 0.008 0.129 0.025 85.7
BEIW _|BE/IH R H = 363 8663 0.002 0.076 0.007 363 8663 0.011 0.113 0.031 86.5
o eI ERITER &) 338 8027 0.002 0.090 0.011 338 8027 0.012 0.130 0.035 83.4
Sk=h =Aam BAa/EESRENRAT | & 356 8594 0.003 0.091 0.010 356 8594 0.017 0.124 0.035 81.9
&M &M RE &M % 358 8641 0.001 0.064 0.007 358 8641 0.010 0.098 0.030 87.0
SFOTH SEOH ABAER T 336 8342 0.003 0.146 0.018 336 8342 0.016 0.196 0.050 81.2
e PiE PiE % & 283 6759 0.002 0.087 0.012 283 6759 0.014 0.127 0.042 83.8
FEM MEM FEmE [E3 305 7226 0.003 0.141 0.016 305 7226 0.016 0.191 0.048 80.6
izlEN R R i3] 362 8666 0.001 0.046 0.004 362 8666 0.008 0.084 0.019 86.4
B &Nl RAMH BEJR/NFR i 363 8626 0.002 0.089 0.009 363 8626 0.009 0.118 0.028 822




Q) —BRIEZEREERVERRCMEEDOFRAERR

QBEBEIFHARAER

[ —EEEE% (NO) EREEIEP (NOTNO,)

" 5
= 1BREED | BFEHED 1B5EED | BESED | EFHIED
g Fr 7 b B ER 4 A BIERRE | £FHE A E BIERE | EFHE
i el | FRE98%IE BEE | £RF98%fE | NO,/(NO+NO,)
B # B #

= (H) (BFRED (ppm) (ppm) (ppm) (H) (M) (ppm) (ppm) (ppm) (%)
KB AT el | 5% PR B 5] 365 8641 0.006 0.126 0.022 365 8641 0.019 0.174 0.051 70.8
KB AT SFOATH I ITESHR 5] 365 8670 0.007 0.150 0.025 365 8670 0.023 0.197 0.054 68.4
KB AT N LNE Nt ] 365 8680 0.004 0.105 0.013 365 8680 0.016 0.153 0.039 74.0
ABRAF EiEm EiEm&RT #£T 365 8670 0.007 0.169 0.027 365 8670 0.023 0.206 0.055 70.8
ABR AT RiEH™H KELE T 328 7832 0.004 0.056 0.010 328 7832 0.013 0.091 0.028 68.0
ABRAF FFEAT RDNT KR Ti5 * 365 8668 0.005 0.246 0.013 365 8668 0.018 0.288 0.037 73.0
ABRAF AINR T S\ I8 AR #T 335 8001 0.005 0.065 0.012 335 8001 0.015 0.104 0.031 66.0
ABRAF =Aam HERF—ILMBS * 361 8603 0.005 0.096 0.016 361 8603 0.017 0.132 0.041 69.6
KB AL X HEHEIE 5 362 8664 0.006 0.107 0.018 362 8664 0.025 0.156 0.052 74.1
ABrH KB daE) | X SR B /N 53 365 8726 0.010 0.139 0.031 365 8726 0.031 0.182 0.067 67.2
KB ABRAEZIX JE i ENEAR 5] 366 8739 0.006 0.100 0.016 366 8739 0.022 0.153 0.047 74.1
PN ABR A REEHX MEETRE N #£T 366 8740 0.010 0.221 0.034 366 8740 0.029 0.273 0.070 66.0
KB A B T AE X FER/NERINERR * 324 7742 0.011 0.191 0.039 324 7742 0.029 0.238 0.070 61.0
PN ABRHESX BTN 5] 366 8741 0.006 0.136 0.022 366 8741 0.022 0.185 0.055 72.7
KR ABR AR AL X SERER 5] 334 7998 0.011 0.128 0.025 334 7998 0.033 0.180 0.063 67.5
PN KirE 2 IR F2IXRER = 366 8731 0.011 0.181 0.031 366 8731 0.031 0.228 0.062 63.7
il RHIRR R [i:] 365 8682 0.004 0.093 0.013 365 8682 0.019 0.131 0.040 80.8
il b 1 i Y BR % 330 7880 0.005 0.261 0.018 330 7880 0.023 0.327 0.046 77.3
R BEidb X g RE 5] 366 8694 0.002 0.112 0.009 366 8694 0.017 0.162 0.039 85.8
il B X R F0i% 48 LU [i:] 365 8688 0.004 0.100 0.014 365 8688 0.017 0.136 0.041 76.2
il BHERX EEREF/LE #£T 366 8679 0.008 0.159 0.023 366 8679 0.022 0.200 0.050 65.3
il BHERX hIRH R #£T 364 8676 0013 0.278 0.038 364 8676 0.030 0.327 0.070 57.4
Erhh B EhhmTE ] 364 8676 0.003 0.103 0.014 364 8676 0.015 0.145 0.042 80.6
L B Brhh&RT 5] 355 8473 0.003 0.058 0.013 355 8473 0.014 0.100 0.039 77.4
wH A W A 8 5 PR [i:] 364 8656 0.006 0.131 0.024 364 8656 0.020 0.172 0.053 67.3
AR |RAMR BARGREGFERE LV S— 2] 364 8660 0.006 0.143 0.026 364 8660 0.022 0.184 0.061 72.2
wA™ WA 1Bz #£T 363 8635 0.012 0.158 0.039 363 8635 0.028 0.199 0.069 54.9
wA™ WA iR I 360 8616 0.008 0.103 0.026 360 8616 0.022 0.140 0.057 65.9
=Y hi =il =T AT ] 361 8546 0.007 0.092 0.021 361 8546 0.019 0.125 0.047 64.1
JNET J\NETH AFE * 364 8637 0.006 0.120 0.024 364 8637 0.020 0.156 0.055 67.9
J\ETh J\ETH AE F i 1 364 8601 0.011 0.278 0.034 364 8601 0.029 0.324 0.066 63.3




@) FEHMFRNEREOERBERR

O—MRBAKAES

H " . . ATES | BEEED
) R 1BEFE EAY HEHEH SRIED BEHE | 0.10mg/m’E é@%%m BiE
_ _ ] B e e | mesn | £TmE 0.20mg/m’% 0.10mg/m’% K [) LR = <&
[ o B E B 4 BB Bz-BH#s B s 28k BB ERR
#h ZOEE ZDES %= 206085 ME | EFELE | 0.10mg/m’%E AR
B % CEDEE | BakA%R
5 (H) (BEED | (me/m® | (BFRR) (%) (H) (%) (mg/m®) | (mg/m® | (B X#O) (H) FH | BH
AIRAF KB RX [E 2% KR 5] 355 8542 0.014 0 0.0 0 0.0 0.093 0.030 [e) of O @)
ABRAF SFAM FEAS 1 =T A— 5] 362 8693 0.013 0 0.0 0 0.0 0.068 0.028 O of O O
AIRAF AT KA [i&] 362 8687 0.013 0 0.0 0 0.0 0.095 0.033 O of O (@]
ABRAF aAam = A PR 1F 361 8661 0.014 0 0.0 0 0.0 0.102 0.028 O of O O
KEIRAF AT MHETIIREERE £ 361 8656 0.013 0 0.0 0 0.0 0.101 0.034 O of O O
ABRAF REM ANERAE 1* 363 8692 0.013 0 0.0 0 0.0 0.079 0.029 O of O O
ABRAF taEh L IEEER *x 362 8679 0.015 1 0.0 0 0.0 0.295 0.033 O of O X
ABRAF Bigm BiFAHEE * 363 8693 0.014 0 0.0 0 0.0 0.088 0.030 O of O O
ABRAF = EE0 S AHT EARET&15 % 363 8690 0.013 0 0.0 0 0.0 0.097 0.033 O of O O
ABRAF E BT EBEMTKA i3] 362 8690 0.014 0 0.0 0 0.0 0.094 0.033 O of O O
ABRAF e HEE £ 363 8690 0.013 0 0.0 0 0.0 0.110 0.027 O of O O
ABRAF REm SRETRE £ 363 8689 0.013 0 0.0 0 0.0 0.093 0.031 O of O O
KBRAF FRH R EINERR % 270 6477 0.013 0 0.0 0 0.0 0.067 0.028 O of O O
AIRAT AINEETH =ATmARE 1 363 8689 0.014 0 0.0 0 0.0 0.085 0.031 O of O O
KBRAF BHFM B FHER * 362 8682 0.014 0 0.0 0 0.0 0.090 0.033 O of O O
ABRAF FHET FHEBPRAR * 361 8627 0.013 0 0.0 0 0.0 0.132 0.028 O of O O
ABRAF RAEET B hAx £ 363 8689 0.014 0 0.0 0 0.0 0.090 0.032 O of O O
ABRAF RAEM RAEM&A #T 362 8688 0.014 0 0.0 0 0.0 0.093 0.036 O of O O
KBRAF LHeANSRERT | BEEATRIG x 362 8686 0.013 0 0.0 0 0.0 0.099 0.032 O of O O
KBrH RERMILTER HTEX &R % 357 8638 0.016 0 0.0 0 0.0 0.174 0.035 O of O O
AR KR AIER TRINERR £ 363 8716 0.019 0 0.0 0 0.0 0.125 0.045 O of O O
KB AR I Fprh/phgR #ET 364 8719 0.014 0 0.0 0 0.0 0.083 0.031 O of O O
KB KBREEFX PR % 360 8688 0.019 0 0.0 0 0.0 0.162 0.047 O of O O
KB ABR R X BRI 53 364 8715 0.014 0 0.0 0 0.0 0.100 0.031 O of O O
KB KBRHFER AER/NER #T 364 8722 0.017 0 0.0 0 0.0 0.105 0.043 O of O O
KB ABRMHEZIR |FEEhRAE #ET 364 8700 0.015 0 0.0 0 0.0 0.110 0.033 O of O O
AR KB TEX BE/INER T 362 8706 0.018 0 0.0 0 0.0 0.104 0.044 O of O O
it IRTTIR X DRF £ 364 8730 0.015 0 0.0 0 0.0 0.076 0.034 O of O O
il IR X ESF £ 364 8737 0.016 0 0.0 0 0.0 0.089 0.036 O of O O
il IRTTRX =F £ 364 8734 0.017 0 0.0 0 0.0 0.095 0.038 O of O O
il B X HE £ 364 8736 0.014 0 0.0 0 0.0 0.065 0.028 (@) of O O
il IRHFEX aiE * 364 8732 0.015 0 0.0 0 0.0 0.080 0.033 O of O O
il BEHERX BEER 1E 364 8738 0.015 0 0.0 0 0.0 0.071 0.031 (@) of O O
il R X EH 53 364 8738 0.014 0 0.0 0 0.0 0.082 0.033 O of O O
il BHERE EJSE 1F 364 8744 0.016 0 0.0 0 0.0 0.120 0.034 O of O O
il ML X SEE * 364 8740 0.015 0 0.0 0 0.0 0.092 0.036 O of O O
2o Zmh S2hmIuIAR #ET 363 8706 0.014 0 0.0 0 0.0 0.164 0.030 (@) of O O
Vd=hi 4=zl = E 5] 363 8705 0.014 1 0.0 0 0.0 0.210 0.035 O of O X
4z i) WHETILEE =
V4D WwHE™ wHETEHE £ 358 8597 0.014 0 0 0 0 0.105 0.036 O of O O
E NI ESN T RARTAREE 22— | & 362 8624 0.014 0 0.0 0 0.0 0.093 0.034 (@) of O O
BAMRT [ERAMRMH BARMALEF (£ 362 8666 0.016 0 0.0 0 0.0 0.101 0.036 O of O @]
wA™ WA EES 1F 363 8706 0.011 0 0.0 0 0.0 0.078 0.028 O of O [e)
wA™ wA™m WA TR 5] 351 8429 0.014 0 0.0 0 0.0 0.080 0.031 O of O @]
WA AT F-NE 1F 364 8732 0.012 0 0.0 0 0.0 0.097 0.030 O of O O




@) FEHMFRNEREOERBERR

O—MRBEAKAES

Pl oes 1B RIEA AEHEA B iE SRl Egﬁﬁﬁé
FlRl1E M8 TIIE | 0.10mg/m Y = p
B B i ® B o BIEESR | ETEHE 0.20mg/m*% 0.10mg/m’% 1B RED ) ﬁifg:/ﬂ 75? [2&kD R REAE
mE | moE A ER & ' BB BALARE | papy 2BpLE | BEMEN | Lpun
#h B % ZDEIE Z0EE %=1 2%BRSME | EfEL- | 041 O_mg/maif
CLOHE | BAAH
& (H) (BEED | (me/m® | (BFRR) (%) (H) (%) (mg/m®) | (mg/m® | (B X#O) (H) FH | BH
Ewm =Y =L % 364 8717 0.014 0 0.0 0 0.0 0.094 0.034 [@) ol O [@)
=y Em FEFT 1F 364 8723 0.015 0 0.0 0 0.0 0.120 0.037 O of O O
Ewm =M LA ES 363 8708 0.014 0 0.0 0 0.0 0.103 0.036 O ol O @)
J\EH J\ETH I\EmREM [l 363 8673 0.015 0 0.0 0 0.0 0.104 0.034 O of O O
JNETH I\NETH 7Kg 1 362 8677 0.013 0 0.0 0 0.0 0.071 0.027 O o O O
BEIT |BEIH K H 1F 363 8690 0.014 0 0.0 0 0.0 0.099 0.036 O of O O
BEIIT |BEIW BEIIHEH [i&] 363 8693 0.015 0 0.0 0 0.0 0.098 0.037 O of O O
aAamT aAam = A HME e AR RAT | 359 8631 0.013 0 0.0 0 0.0 0.160 0.033 O of O O
REH gl RE TR £ 358 8632 0.013 0 0.0 0 0.0 0.084 0.028 O of O O
SFO™T SFATH ABAER T 361 8661 0.016 0 0.0 0 0.0 0.108 0.039 e) o] O (@)
MEM PAE™ PMEm&AT £ 303 7254 0.015 0 0.0 0 0.0 0.098 0.032 O of O o
MET =L FAE MR £ 304 7289 0.015 0 0.0 0 0.0 0.093 0.031 O of O O
AR tEIR™ AR [l 235 5721 0.016 2 0.0 0 0.0 0.287 0.033 O of — X
RAT XA HF/NER i 353 8492 0.013 0 0.0 0 0.0 0.086 0.030 ) of O O




Q) FitFRMEREDFRAERR

QHFBEHEAHRAER
R % . . BEHEs | BELED
G 1B R EAS BFOMED | nes o | mayan| 010me/m's | EMOFHE | myse
5 B m o | mwesny | swem | 020mymE 0.10mg/m’% e PEP maran ST
Fﬁ' % Fﬁ' E iﬂ LEJI E % % ! ik ; - ﬁif:ﬁFﬂﬁﬁ& ﬁif:E?ﬂl& EE—{E 2°/|}$91~1_§ 2BUE Elqziéﬂﬁhi EEZ#(:R
i Z0EE Z0EE =18 OBRMME|  mgLE | 0tomem’%E 2
B % SEOER | BalAH
B (H) (R (me/m®) | (i) (%) (R) (%) (me/m®) | (me/m®) | (B X#O) (8) FH | 58
KR AT MBS T [E] 2% PO {5 B [i4] 362 8652 0.013 0 0.0 0 0.0 0.088 0.033 O 0] O O
ABRAF SFOH RITR SR 5] 363 8691 0.015 0 0.0 0 0.0 0.095 0.036 o) ol O @)
KB AF NENT [NEE A=y o [i4] 363 8701 0.015 0 0.0 0 0.0 0.091 0.034 O o] O @)
ABRAF B2 EEWEA T 363 8689 0.014 0 0.0 0 0.0 0.098 0.035 o) ol O @)
AIRAF RIEHTH KELE T 363 8690 0.013 0 0.0 0 0.0 0.083 0.029 ®) of O @)
KB AF FFAT KD TR TE [ 363 8688 0.015 0 0.0 0 0.0 0.087 0.036 @) ol O @)
KR AT AREET NERA N R E T 348 8358 0.013 0 0.0 0 0.0 0.075 0.028 O 0| O O
KB AF EAaT HERF—)LMBS £ 363 8683 0.014 0 0.0 0 0.0 0.072 0.030 O of O @)
N RIEMIEIIR [HESNER £ 363 8706 0.017 0 0.0 0 0.0 0.130 0.039 O of O @)
PN KERFEZIR  |[dEBHE/NER [tz 362 8704 0.016 0 0.0 0 0.0 0.092 0.039 O of O O
N KRATERX iR INER £ 364 8719 0.014 0 0.0 0 0.0 0.174 0.032 ©) of O @)
PN ABRHEEX K BRFHER 5] 364 8717 0.015 0 0.0 0 0.0 0.104 0.032 @) ol O @)
R FEiRX WM& AT ] 363 8731 0.015 0 0.0 0 0.0 0.085 0.034 ©) of O @)
b it b i =8 R [ 363 8733 0.017 0 0.0 0 0.0 0.105 0.039 @) ol O @)
it BmdbX HARE 5] 364 8738 0.016 0 0.0 0 0.0 0.083 0.036 ®) of O @)
il B X PR F0R 4 LU ] 364 8741 0.015 0 0.0 0 0.0 0.086 0.033 O of O 0
il BiEREX XRALE #ET 360 8677 0.015 0 0.0 0 0.0 0.080 0.033 ©) ol O @)
il BEHRX hIRHR HET 364 8735 0.016 0 0.0 0 0.0 0.092 0.037 O of O 0
2oy 20 S2hmFE i 363 8705 0.014 0 0.0 0 0.0 0.092 0.029 ©) ol O @)
2 Zomh EohEm 5] 363 8706 0.015 0 0.0 0 0.0 0.133 0.031 o) ol O @)
WwHE™ wHEH W H 85 5 B A 5] 364 8712 0.015 0 0.0 0 0.0 0.140 0.035 @) ol O @)
EPNITE PN BEARHBEMERE L Y— | B 363 8676 0.011 0 0.0 0 0.0 0.082 0.027 @) ol O @)
wA™ WA iz T 364 8730 0.012 0 0.0 0 0.0 0.065 0.028 ©) ol O @)
WAT wAT ik T 364 8722 0.013 0 0.0 0 0.0 0.098 0.033 @) ol O @)
(=i EWm TR [i5] 364 8723 0.014 0 0.0 0 0.0 0.088 0.033 @) o O O
J\E J\ET ANFE 1x 362 8677 0.015 0 0.0 0 0.0 0.097 0.036 O of O 0
\ETH NET AF R & 363 8675 0.016 0 0.0 0 0.0 0.093 0.036 O 0 O ©)




(DI FRYMEREDOFMRERER
O—BIRRASAER

A

BEEA 98%1E 5T [ = FE i 3
g | omw | memm | swm | DEYED | o mizmar |SREFHE
e AT 7 e BER & F[H98%{E o | P35 ug/m’ ey

" - B#LTDEE S5 1B Z AR

15 (B) (BFR) (¢g/m) (pg/m) () (%) (B) RHIRE | EHRE
AR AF KB g X E BN [l 334 8093 9.4 23.0 0 0.0 of O @)
ABRAF SO WEAZS1 =Ttz A— iz 360 8640 6.8 18.4 0 0.0 of O @)
AR AF KA R [z 358 8592 8.9 20.5 0 0.0 o O @)
ABRAF =am BAPER e 363 8692 9.7 22.1 0 0.0 of O @)
KB AF MET AT FEESEE 53 362 8694 75 17.2 0 0.0 of O @)
ABRAF REM AEMEM £ 362 8672 8.7 21.6 0 0.0 of O [@)
RERAF HET [T ISR * 362 8681 8.4 185 0 0.0 of O @)
A BiEm HIEWHEBE & 340 8208 85 19.8 0 0.0 of O O
PN =T N EAR%S % 359 8616 6.2 15.6 0 0.0 of O @)
KBRAF =BT =EHMHER [ 361 8674 7.1 17.2 0 0.0 of O @)
PN MREam B 53 358 8652 8.1 19.1 0 0.0 of O @)
ABRAF SREm SREMER & 363 8694 7.8 18.3 0 0.0 of O @)
RERAF MR & B INEARR £ 362 8695 7.9 18.0 0 0.0 o O @)
ABRAF AIAREM BT AREE & 362 8689 8.0 18.3 0 0.0 of O @)
KBR AT BHIET BHFHEHM £ 362 8685 9.4 21.0 0 0.0 of O ©)
ABRAF FFAET FHHEPREAE £ 361 8659 74 18.8 0 0.0 of O [@)
PN RIEET B £ 363 8693 8.0 19.0 0 0.0 o O @)
ABRAF RAEM RAERRA T 356 8601 9.7 20.7 0 0.0 of O @)
N SR AN e SHERTIR IS * 362 8683 7.0 16.9 0 0.0 o O O
PN KRR LTER L TEX &P £ 363 8729 10.1 24.1 0 0.0 of O @)
PN AT KIEX S REINERR % 363 8716 10.3 23.6 0 0.0 o O O
N PN ES B oh/ g T 360 8646 9.6 21.9 0 0.0 of O @)
K AR EFX B R 5 364 8729 10.1 25.2 0 0.0 o O @)
AR AERAHEX ERINEAR e 364 8729 10.5 24.0 0 0.0 of O @)
N KBRidEX NEFENER #ET 364 8722 9.1 22.3 0 0.0 o O ©)
AR AiriE 2 IX EERRARE T 363 8712 11.2 27.0 1 0.3 of O @)
K ARt {EX BE/NER HET 362 8706 10.1 24.7 0 0.0 o O O
il WX EF 5 358 8645 13.8 28.5 0 0.0 o O @)
b il WHRX =F 5 364 8743 11.0 241 0 0.0 o O O
il BhmX HE F 360 8680 95 20.9 0 0.0 of O @)
b il WX R 5 363 8736 10.2 22.3 0 0.0 of O @)
il Wit X M 53 355 8628 10.8 22.7 0 0.0 o O @)
Zdimh 2o EhminIaE #ET 358 8589 8.7 20.4 0 0.0 o O @)
vqzzl) WwHET V= E S 53
E PN E PN EARMmEREES— [t 363 8679 11.3 25.1 0 0.0 of O O
E DN E PN BARHAAAT * 362 8667 9.6 21.6 0 0.0 o O @)
WAT wAT FI-NE % 360 8686 8.5 19.3 0 0.0 o O O
Eh =T =it * 364 8717 8.3 19.1 0 0.0 o O @)
awmm = T 5 364 8723 9.1 20.2 0 0.0 o O O
J\EH INET JNETR ] 362 8671 10.7 24.3 0 0.0 of O @)
EEIh BRI ERJITER [ 363 8693 9.2 21.5 0 0.0 of O O




(ORI EREDFRMAIERR

QBEFEHEARBIER
" 3 . OBMERHEISSD | smiye
) _ 2 | @ = mesh | awm@m | OTOED |\ oo ismar AT fEA
o o7 i 3E R A FRH98%1E B EZOES 35ug/m SERRR
#h B % *HBz-BH%
21 a) i) (ug/m®) (ug/m®) (8) (%) (a) R | EHae
KRR AF el o] =] 5% PR B i 210 5042 10.1 21.8 0 0.0 of — —
KB AF SFO I IEEK [ 362 8694 8.9 205 0 0.0 of O O
KRR AF NG N N 5 5] 363 8695 9.5 21.3 0 0.0 of O @)
KB T RiEFH KIGAE #T 363 8696 9.0 19.8 0 0.0 of O O
KR AT AT NIBAINER #T 362 8691 8.5 18.4 0 0.0 o O O
KB T =A™ HER—ILMBS (£ 363 8689 9.2 20.7 0 0.0 of O O
A ABRAFENIR |5k E/INER * 363 8722 10.7 25.5 0 0.0 of © @)
KB RIEFEZIR AR ER [ 364 8732 11.6 26.6 0 0.0 of O O
KB ABR T AE X EECUN YN * 364 8725 10.3 25.3 1 0.3 of © @)
KB ABERHEEX BRFPFER 1] 364 8731 10.8 245 0 0.0 of O O
R RmERERX XFEAL E=T 364 8740 8.6 19.3 0 0.0 of O O
R WHEER FIRAR ET 364 8737 10.3 22.5 0 0.0 of O O
W =N Ve H 5 5 &I A i 363 8667 9.8 22.0 0 0.0 of O (@)
AT [RAMRT RARTBEHERE 42— & 361 8659 10.3 240 0 0.0 of O (@]
wA™ wA™ thik T 364 8728 8.9 20.4 0 0.0 of O O
=X =i TR [t 364 8724 8.9 20.2 0 0.0 of O O




G)RIFFF LI NREOERAIERRE
O—BIRBERTAES

R M B RED BREDO1EMED | RO 1ERED BRE®D BRE®
D s = RiE
=] T & i A3E R & ® Al E Al E 1ERED 0.06ppm% B Z 1= 0.12ppmEL ED 1R ED ; EE;IF?{'EO) éﬁ -

) 5o B A EwnE | MR A B R gmm | TR | g

= (8) (BE) (ppm) (B) (¥R (H) (B8 (ppm) (ppm)
ABRAF ARt R X EE PN &) 362 5332 0.029 39 147 0 0 0.104 0.042] x *
N SFOT OS2 - T a— 5] 366 5438 0.032 63 266 0 0 0.119 0.047| x *
ABRAF KA RATIRAT [l 366 5435 0.030 42 164 0 0 0.106 0.044 x *
AIRAF BAam B A PER i 366 5436 0.034 78 351 0 0 0.105 0.049| x *
ABRAF MET METIIEESE £ 366 5436 0.037 76 360 0 0 0.110 0.049 X *
AIRAF AEM REM& £ 366 5431 0.034 70 310 0 0 0.118 0.048[ x *
ABRAF HEm fFILIEfEZNE x 366 5432 0.032 80 298 1 2 0.125 0.048| x *
ABRAF HiZm BIEMEBE £ 353 5222 0.037 72 325 0 0 0.104 0.050[ X *
ABRAF = BEN S AHE EARET&15 £ 366 5439 0.032 72 278 0 0 0.110 0.047| x *
KBRAF = H#TH EBEMTHE&ER [i5] 366 5436 0.036 102 515 2 3 0.131 0.052| x *
ABRAF U tean EEEH % 366 5438 0.035 57 211 0 0 0.093 0.046] x *
ABRAF REh SRET&RT % 365 5417 0.036 72 322 0 0 0.099 0.048| x *
AIRAF MR BT N % 366 5442 0.036 92 460 0 0 0.108 0.051 X *
ABRAF AINRET ZHMAREE £ 366 5438 0.034 105 474 1 1 0.123 0.051 X *
ABRAF BHFH BEHFH&N 53 366 5422 0.036 102 484 3 4 0.135 0.052| x *
AIRAF AR EHAPRAR % 355 5231 0.035 74 322 0 0 0.112 0.049| x *
ABRAF SRIEEFT gl o £ 363 5367 0.034 79 315 0 0 0.105 0.047| x *
ABRAF RKEH RKENR #T 366 5421 0.034 71 308 0 0 0.101 0.048[ x *
AIRAF BEEERDEE BRERTI IS x 366 5438 0.035 67 290 0 0 0.115 0.048| x *
KB KRR ELTER I TE X &R £ 366 5449 0.029 51 186 0 0 0.110 0.044| x *
KB AR AEX TREINER % 366 5430 0.030 43 168 0 0 0.104 0.043] x *
AR KRB TN #ET 366 5456 0.034 66 268 0 0 0.116 0.047| x *
KB AR A X A P 53 366 5446 0.035 72 323 0 0 0.116 0.049| x *
AR AR ATAE X REFER £ 366 5455 0.034 75 333 1 1 0.120 0.049 x *
KBrH ABR AR X BB/ £ 366 5452 0.034 69 282 0 0 0.115 0.048| X *
AR ABRFEZIIX ATV £ 366 5435 0.032 64 259 0 0 0.107 0.046 x *
AR KB 8 X 5 g £ 366 5450 0.032 68 281 1 1 0.120 0.047| x *
AR AP 1 78 Rk X S EPER [l 366 5450 0.032 54 221 0 0 0.112 0.045 x *
KB AR R X AL NER 53 366 5452 0.031 64 259 0 0 0.111 0.046| x *
KBrH RERFEZIIX EEREAE #ET 366 5446 0.026 34 107 0 0 0.097 0.040[ X *
il RARX DRE £ 366 5451 0.033 73 329 0 0 0.110 0.048[ x *
il WX EF £ 366 5452 0.035 87 407 0 0 0.108 0.050[ X *
il RARX == =3 366 5456 0.031 52 211 0 0 0.111 0.045 x *
il WX N £ 366 5453 0.036 88 425 0 0 0.119 0.050[ X *
il RHEX aiE £ 366 5446 0.032 69 285 0 0 0.107 0.047| x *
il BHRX EER £ 366 5454 0.034 78 345 3 4 0.133 0.049| x *
il X R £ 366 5454 0.035 87 397 2 2 0.123 0.050[ x *
il BHEREX EJE £ 366 5455 0.031 70 294 2 2 0.123 0.047| x *
il A X ] £ 366 5456 0.034 78 369 1 1 0.123 0.049[ x *
2 2 ShHIIAR #T 366 5434 0.034 73 324 0 0 0.119 0.048| x *
vd=hi V4= WE T EK ] 366 5436 0.034 71 319 1 1 0.126 0.048[ x *
U4z 4z WwHETILEE =
Vd=hi V4= MHETEHE £ 366 5448 0.034 74 320 0 0 0.113 0.048| x *
AR AR HARMAREL2— [i5] 366 5423 0.034 78 346 0 0 0.115 0.049 x *
BAMRT BAMRT BEARTALEF £ 366 5420 0.033 79 334 1 1 0.121 0.048] X *

) EE O * TEIMRRAE (B2 . ERILRAIEEE TRIE




G RILFFFIF U NREDERMAIERR
O—BIRBARAERS

A B B BRED BREID1EREIED | BREID1EREI{ED BRED BREO -
. = R I
Fﬁ' aé: Fﬁ E i‘lﬂ /,Ell E E! % @ /ﬂll fE LE'] E 1 B:"—fﬁ?ﬁ{l_ﬁo) 0.0GDPmEEif: 0.12ppml«LU:0) 1 E%FEWEG) 1 EEF::%EO) %ﬁ ﬁ;}: %
=
N - B R EFE | BMEEMER B MBS BEiE FEHOE | yim
15
(H) (B¥R) (ppm) (H) (BF0E) (H) (B (ppm) (ppm)

wA™ wAT LES 53 366 5404 0.034 93 426 0 0 0.115 0.051 X *
WA WA WA TR [l 354 5220 0.034 84 366 0 0 0.112 0.049[ x *
wA™ wAT FL-oE 5 365 5374 0.033 79 339 0 0 0.111 0.048| x *
=y =X =L 54 353 5199 0.033 57 248 0 0 0.108 0046 x *
=t =X ERT 53 366 5429 0.034 73 334 0 0 0.111 0.048| x *
J\EH J\ET I\NETRER [ 365 5398 0.035 88 423 2 2 0.127 0.051 X *
BE/T BEIM K H 1* 366 5437 0.033 69 286 0 0 0.109 0.047 X *
BEIT |EE)IT BEIH&F 5] 366 5431 0.034 81 334 0 0 0.111 0.049| x *
aam aam = A HBE = AR AR AT % 364 5370 0.029 36 109 0 0 0.101 0.043] x *
XEHm XEHm REFH&A £ 366 5416 0.033 76 339 0 0 0.110 0.048| x *
SO SFAH ABAER #£T 365 5293 0.032 67 293 0 0 0.114 0.046 x
MEM MEmM PAIEM&AT £ 306 4574 0.032 60 256 0 0 0.104 0.047| x *
MET MET FAEMRE 5 306 4573 0.031 60 250 0 0 0.115 0.047| x *
AR AR RETZE [l 366 5456 0.033 81 322 1 2 0.122 0.048[ x
KA KA HIR/NER £ 366 5435 0.033 73 300 0 0 0.115 0.048] X *
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GYRALEA X LTV MNREDEMBIEHR

QBEBEHHARAER
& B M B R RED BRED1EEEMN BRI D1 EREEN RED BEO
: oe= i)
ﬁ 3 = 3 = C B BH&S 34
o o e B & Al E Al E 1EEREED 0.06ppm%F#BZ 1= 0.12ppmEl LD 1EEREED 1ESERIED é; m o=
Bl B om B R ET19(E B 8 L BRRIA B 8BS RA BEE FEOE | i
e}
(H) (BFRE) (ppm) (H) (B¥E) (B) (BFRE) (ppm) (ppm)
KB RIRMFEGRIIR  |H RS /NER [E3 366 5448 0.024 14 46 0 0 0.080 0.036] x *
2 2o S2hmTFE [l 366 5437 0.033 57 246 0 0 0.117 0.046 x *
2 2 D& [l 366 5436 0.033 69 293 1 1 0.120 0.047| x *
AT KR HARTREGFERE L 2— [is] 366 5413 0.030 73 315 0 0 0.113 0.047| x *

) BB D * TRIMRRAE (B2 . ERITREREETH
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(6) AV RERUERILKRREDEMBIERER
O—RBBEASAES

ER ERILKR
B 6~9FFIZHITS 6~9RFIZHI+5
6~9BFIZ | 6~9B¥IC 6~9BFIZ | 6~9B¥IC
by SR HA1E SEFR T A1E
T & Fr 7E it B E B & BIERSE | EFHIE Blt3 B3 BIEREE | EFHE Blt3 BF3
' FEHE | AEBHK FEHE | AEBH
e SN =IE(E == B =IE(E
(BERED (ppmC) (ppmC) (H) (ppmC) (ppmC) (B¥FE) (ppmC) (ppmC) (H) (ppmC) (ppmC)
KB AT AR |EFEAR ] 8506 2.04 2.06 360 2.32 1.86 8506 216 2.20 360 2.79 1.93
KB AF AE AMHETIL AR [ 8632 2.00 2.01 365 2.21 1.86 8632 2.07 2.09 365 245 1.93
KB AT HiEM BIEMIERE £ 8658 2.01 2.03 366 215 1.86 8658 2.09 2.10 366 2.38 1.88
KB AF = H#MH = BMAT&AT [z} 8554 2.01 2.02 366 2.20 1.86 8554 2.10 212 366 2.39 1.92
KB AT =izl FHMEHPRAR £ 7724 2.03 2.04 329 2.20 1.88 7724 214 2.16 329 2.66 1.90
PN RERAILLER [ TER&AT * 8605 2.04 2.08 364 250 1.88 8605 215 2.19 364 2.89 1.94
KB RERAGEIE | BFrh/hEEss #£T 8646 2.04 2.07 365 2.41 1.88 8646 2.18 2.21 365 2.88 1.97
KB KEHFEEHRX |[EEPER * 8647 2.06 2.08 365 245 1.87 8647 2.22 2.26 365 3.26 1.96
R RIRX DIRF £ 8559 2.02 2.05 366 2.28 1.85 8559 218 2.21 366 278 1.90
il b i EF F 8559 2.03 2.05 365 2.27 1.87 8559 219 2.22 365 2.86 1.90
il RHIRX =% 2 8684 204 2.05 366 2.31 1.86 8684 213 215 366 2.69 1.90
R RHEEX aiE *F 8526 2.03 2.05 363 2.32 1.85 8526 2.21 2.24 363 2.87 1.92
b= i B db X & [ £ 8082 2.01 2.03 345 2.31 1.86 8082 218 2.21 345 2.99 1.90
W E W E WAL EBE £
E PN EPN T HARTAEREE2— [tz 8218 2.05 2.08 359 2.56 1.86 8218 2.24 2.31 359 355 1.91
WA WA WA TR [iz] 8212 2.02 2.04 344 222 1.87 8212 2.21 223 344 2.82 2.00
BEBIWm |BE)IT BRI Im & ] 8642 2.02 2.04 366 2.26 1.88 8642 212 2.16 366 2.70 1.92




B AURERUVLRIEKRREEDERAERER

QEHEHEHRBIERD
EI ERILKR
6~9FFIZEIT3 6~9BFIZEIT3
6~9RFIZ | 6~9RFIC 6~9RFIZ | 6~9RFIC
& M F B M F B
o fF T i #3OE R 4 AERRE | FTHE | BTFD B+% AERE | FTHE | BT (P )
e EEwiE | MEAMH EwyiE | BEau
15 X (B =IEE SN HIE(E
(BFE) (ppmC) (ppmC) (/) (ppmC) (ppmC) (B (ppmC) (ppmC) (/) (ppmC) (ppmC)
KB AT el 4] [ 5% U 15 B i3] 8504 1.99 2.01 361 2.27 1.84 8504 213 217 361 2.82 1.90
KB AT SFOm BRI IRSK i3] 8648 2.04 2.07 366 2.34 1.89 8648 2.23 2.27 366 3.18 1.94
KB AT NENT LNEB N2t ] 8648 2.03 2.05 365 2.35 1.87 8648 2.15 2.18 365 2.98 1.91
KB AT EiEh EETRA # T 8653 2.04 2.06 366 244 1.88 8653 213 2.17 366 2.75 1.94
KB AF =A™ HERF—/LMBS £ 8349 2.02 2.04 359 2.20 1.85 8349 2.17 2.21 359 3.02 1.86
KB ABRHFERIIR | KB /INER 5 8685 2.03 2.04 365 2.32 1.83 8685 222 2.27 365 2.89 1.95
KB RIEFEZIR | ENER [z} 7379 2.06 2.08 312 248 1.88 7379 2.20 2.23 312 3.24 1.93
2 2o 2% 5] 8594 2.01 2.03 362 2.36 1.87 8594 212 2.14 362 2.76 1.93
W W HE T W A 8 5 & FI AT 5] 8602 2.04 2.05 363 2.50 1.89 8602 2.16 2.20 363 3.19 1.96
E N E PN BEARTBEGERE L 24— 5] 8281 2.03 2.06 362 2.40 1.88 8281 2.20 2.27 362 3.26 1.89
=X =i XAl ] 8644 2.03 2.04 365 2.23 1.85 8644 2.16 2.20 365 2.76 1.90
J\ET J\ET AFE F 8619 2.03 2.06 366 2.41 1.86 8619 2.18 2.25 366 3.29 1.91




(N IEAZRALKRIREDERMBIERER

O—MIBFASAES

H 6~0B5= | 6~0B%IZ 6~9BFI=E11S SrOmI=RIS 6~ omIBITE $Est
R oy N e N
_ _ # | mmen | aFSE | B4 5113 SEmTSE TSR TSR o
g [ AER A 0.20ppmC% 0.31ppmC%
i FETHYE | MEEHK N ER
" BB RIEME BAIAMETOEE BALBHLTORE | o
(:=365)) (ppmC) (ppmC) (H) (ppmC) (ppmC) (H) (%) q=))] (%)
ABR AF KiEmhRRX |EERKR ] 8506 0.13 0.14 360 0.49 0.02 73 20.3 15 42| x
KB AT A BT I E AR 5 8632 0.08 0.09 365 0.25 0.01 12 3.3 0 00l O
KB AT HiEm HIEWHEE £ 8658 0.07 0.08 366 0.24 0.02 6 1.6 0 00| O
KB T =HMKH = BEMT&RT ] 8554 0.09 0.10 366 0.30 0.04 5 14 0 00 O
ABRAF J=ZilznT) FEHRPRAR £ 7724 0.1 0.12 329 0.56 0.01 22 6.7 3 09| x
PN RERFHIER  |LfEXEAT L3 8605 0.11 0.11 364 0.41 0.01 38 104 5 14 x
N RBRTGEIR | BFeh/NERR #ET 8646 0.14 0.14 365 0.48 0.02 61 16.7 7 19| X
N RERTTEFHFRX |EEPFER F 8647 0.16 0.18 365 0.81 0.00 108 29.6 29 79| X%
il WHIRX DIRF [ 8559 0.16 0.16 366 0.55 0.02 109 29.8 17 46| x
il BhmEx EF F 8559 0.16 0.17 365 0.87 0.02 118 32.3 30 82| X
il WHIRX =% £ 8684 0.09 0.09 366 0.40 0.00 24 6.6 4 1.1 X
ot e =3 fiE L3 8526 0.18 0.19 363 0.73 0.04 140 38.6 40 1.0  x
il (Y £ 1% 8082 0.17 0.18 345 0.69 0.02 112 325 29 84| x
yq:zhil 4=zl wEmALEBE *
E PN E PN i RARTEFREE 2— 5] 8218 0.20 0.23 359 1.07 0.04 153 426 80 223  x
wA™ wA™ WA TR [z} 8212 0.19 0.19 344 0.67 0.04 135 39.2 38 1.0 x
BEIIT [BEERNH BE)ITh&m [i5] 8642 0.10 0.12 366 0.64 0.02 48 13.1 15 41| x




(M AL BAL KT IRE D ERRIERER

QEHHEFHEARAIER
6B 6B 6~9BE=H5(13 6~9BF(ZH (T3 6~9RFIZH(TH seot
LR fE A £ RSP fE M
_ _ . B ek | S£TSE | B35 | B4 SR PRSI RS f
B r & Hh A E R 4 0.20ppmC% 0.31ppmC%
i EEHE | AEes | _ ERL
" EE | RER | mrregcross | @ARRRCTONS | o
(BfED) (ppmC) (ppmC) (/) (ppmC) (ppmC) (/) (%) (/) (%)
ABR AT PO e I T | 5% PR B 2] 8504 0.14 0.16 361 0.55 0.05 80 22.2 30 83 x
ABR AT SFAH ENIESE ] 8648 0.19 0.20 366 0.89 0.01 150 410 71 194 x
KR FF [NEN MERAL/NER ] 8648 0.12 0.13 365 0.64 0.02 52 14.2 12 33| x
AR AT BiEh EEmERRT T 8653 0.09 0.11 366 0.40 0.02 32 8.7 5 14| x
KR FF =amH HERF—ILMBS £ 8349 0.15 0.17 359 0.91 0.01 110 30.6 21 58 x
pNi] RBERHEEIR |[HEE/NER * 8685 0.19 0.23 365 0.64 0.05 194 53.2 61 16.7]  x
N RERMEZIRX [dE#E/NER [i4] 7379 0.14 0.15 312 0.77 0.04 68 218 19 6.1 X
Zhmh L B & [i&] 8594 0.11 0.11 362 0.40 0.02 24 6.6 5 14/ x
4] wHE T W M 8 5 &I Fr 5] 8602 0.13 0.15 363 0.69 0.03 79 2138 18 50 x
E P NTE PN G REARTREGHEREE S — | B 8281 0.16 0.20 362 0.86 0.01 138 38.1 72 199 X
=L =X SR [i5] 8644 0.13 0.16 365 0.58 0.03 96 26.3 18 49| x
J\ET J\ET AFE #F 8619 0.16 0.19 366 0.88 0.02 107 29.2 54 148| x




8) ZEALREREDERMBIERER

O—BEFEATAES

# 1 B5RS1iE A%0.1ppm . BFEHEN | BREELED
N AR R e o | 1whin | BEsEe | SUwE | SOUHS | mage |
—_— e . 8l E BIERRE | £FEHE =HA-FEE%KE éﬁitgﬂj&& x| oo %?fﬁi %iﬁjﬁg - &

#| B o zouE ToRs Zendm | BARAR 5

5 (8) (BFED)D (ppm) (B5RE) (%) (8) (%) (ppm) (ppm) (B x£O) (8) R4 | &4
ABRAF | KRB RX E AR [ 27 678 0.001 0 0.0 0 0.0 0.007 0.002 [e) o — | O *
KBRAF  [’RATM TATIEA 2] 365 8675 0.001 0 0.0 0 0.0 0.008 0.002 O o0 O | O *
ABFF  |&AT = A PR £ 362 8619 0.001 0 0.0 0 0.0 0.052 0.003 @) o0 O| O *
KIRFF |=@EMTH = AR 5] 74 1762 0.001 0 0.0 0 0.0 0.007 0.001 @) o — | O *
KEREF  |=FEAT FHHRPRAE * 365 8664 0.001 0 0.0 0 0.0 0.085 0.002 ©) o0 O | O *
KPR | RBRFILLIER LHIE XA £ 365 8725 0.003 0 0.0 0 0.0 0.028 0.008 @) o O | O *
KPR | RIRAIEEEX EEBINERR £ 366 8736 0.003 0 0.0 0 0.0 0.021 0.006 O o0 O | O
AR | RIRAITEEHFX EIZ P ER £ 365 8726 0.002 0 0.0 0 0.0 0.046 0.004 O o O | O
AR | KERTEFEZIR (AERRARE #T 366 8727 0.004 0 0.0 0 0.0 0.014 0.006 O o0 O | O *
i) RHIRE LF £ 366 8694 0.001 0 0.0 0 0.0 0.098 0.004 @) o0 O| O *
il WHEX B Ed 366 8693 0.001 0 0.0 0 0.0 0.083 0.003 O o O| O
i) RATIRX =% Ed 366 8697 0.002 0 0.0 0 0.0 0.023 0.003 O o O| O *
i) R X N Ed 366 8695 0.001 0 0.0 0 0.0 0.023 0.002 O o O| O
i) WHEX " £ 366 8693 0.002 0 0.0 0 0.0 0.094 0.003 @) o0 O | O *
i) RidbX £ £ 366 8697 0.001 1 0.0 0 0.0 0.186 0.003 @) o] O X
Lo (2dW SmiIAE #T 362 8637 0.001 0 0.0 0 0.0 0.009 0.002 @) o0 O | O
WHT  |RET WwEmALEEE *
E PN EPNT BARMAEGRELS— % 366 8725 0.004 0 0 0 0 0.051 0.007 O o0 O| O
E PN T EPN T BARTALTF Ed 365 8639 0.001 0 0.0 0 0.0 0.033 0.003 O o0 O| O *
WA™m  |#A™ WMATEA i3] 350 8339 0.001 0 0.0 0 0.0 0.007 0.002 @) o O| O *
NEH  [J\EmW JI\ETRER [t 365 8626 0.001 0 0.0 0 0.0 0.049 0.003 @) o0 O | O *
NEH  [J\EmW Kt fth 365 8636 0.000 0 0.0 0 0.0 0.019 0.001 @) o0 O | O *
BE)IT |BENH R H £ 363 8659 0.000 0 0.0 0 0.0 0.010 0.002 @) o O | O *
=AM |EAm B AHEE = AR AR £ 359 8633 0.004 1 0.0 0 0.0 0.157 0.006 O o] O x
SFA™ |SFA™ XBAER # T 363 8567 0.001 0 0.0 0 0.0 0.009 0.002 @) o O| O
MEM |MEM PE MR Ed 303 7225 0.001 0 0.0 0 0.0 0.020 0.002 O o O| O *
MEM |MEM MEME * 306 7286 0.001 0 0.0 0 0.0 0.032 0.002 O o0 O| O *
RA™ | FTATH HIR/NFER Ed 363 8613 0.000 0 0.0 0 0.0 0.007 0.002 O o0 O| O *
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B) _BRILHREREOEMATEHER
QBEEBEHEARAER
i " ‘ S —
. B % 1B RE{EAY0.1ppm 5025?11575{ " - E:;gpﬁl%ﬁ Eg%ﬁ% S—
w5 | o xR £ Bl omoE | EEE | ST | EEXEEEE | L2 i ‘“%FE%T‘“LE‘D paos |HAES LS L fié
i S 2 P ZDEE FRIME Btz 40ppm% ERURR =
B # TOAEE CEDEE | BAl-AH
15
(H) (B¥FE) (ppm) (BFFE) (%) (8) (%) (ppm) (ppm) | (B x&O) (H) E# | B8
KRR AF E{EBE™ EIusl 9 =] 366 8657 0.001 0 0.0 0 0.0 0.011 0.002 0] o O| O *
PN KIRHFEREIE |HES/NER £ 365 8727 0.002 0 0.0 0 0.0 0.009 0.003 O o O| O *
Z2th 2 ST [} 363 8668 0.001 0 0.0 0 0.0 0.006 0.002 0] o O| O
W E M W HEH e H £ 5 & I P ] 364 8678 0.001 0 0.0 0 0.0 0.023 0.002 @) o 0| O *
E PN E PN HABRTERETEREEVS2— | B 363 8657 0.000 0 0.0 0 0.0 0.023 0.002 O of o| O *
wA™ wA™ iR T 364 8649 0.000 0 0.0 0 0.0 0.008 0.002 O o O| O *
=y =y =TT i} 364 8661 0.001 0 0.0 0 0.0 0.005 0.002 ®) o O| O *

) HEO * [FERMRENE G | ERIERREERETAE




(9) —BIERREEDOEMAERR

O—RIRFERKAES

" FE T4 1 BTl oo | Ao
8HFfE] FIIED FIIEM 10ppm SR i I y
] ] 3N (R [ . 20ppm? 10ppm% st | B \garan|cep | REEE
(= £ e BERB 4 AR | RUERTE = BZ-EHs Bir-B#& REfE B’%N% 28U L |BEHEH ERORR
R ZOEE ZOEE MR gLt | 10ppmzE ’
CEDEE | BA-BH%
15
(H) (¥R (ppm) ([ (%) (H) (%) (ppm) (ppm) (ExE&EO) (H) = | =8
KBRAF | RBRAPRR |[EFHKRK [} 358 8533 03 0 0.0 0 0.0 1.0 05 O of O O
=M  |Eh LR *x 363 8665 0.2 0 0.0 0 0.0 1.6 0.4 ®) of O @]
BEIIW (BBIH o % 366 8684 0.2 0 0.0 0 0.0 2.9 0.4 O of O @]
FIE™ FIE™ W) £ 306 7307 0.3 0 0.0 0 0.0 1.1 05 O of O @)




(9) —BIERFRREDOEMAIERR

QBEBEIFEARAER
R G SEFfHFEED HEHEL TBEED | BESED E%pts]n{%b\ Eﬁigﬁﬁ% B
N o B om x| e | ewem | G000E L ’EL | marEr | ke
T & T 7 #b A ER 4 " n;ch;%IJe ugaﬁug B | 200mshiE 2R 10p[;ml;é ERR
B # CEDAEE | BABH
15
(/) (B (ppm) ([E) (%) (8) (%) (ppm) (ppm) |(A x£&O) (8) R | =4
ABRAF | RIEBRT [ 5% U {5 B i) 366 8674 03 0 0.0 0 0.0 1.2 05 O o O O
KB [ KBRATILR HEEFE 1] 360 8610 0.4 0 0.0 0 0.0 18 0.7 O o O| O
KB | KERHERIIR |HESNER % 361 8614 0.2 0 0.0 0 0.0 2.1 05 ®) o O O
KB | KBRAERERE |[$ERXER 1] 334 7961 0.4 0 0.0 0 0.0 11 0.6 O o O| O
bl BhERR EJ o #T 366 8703 0.1 0 0.0 0 0.0 1.0 0.3 @) o O | O
] IRHRX FIRER #T 357 8510 03 0 0.0 0 0.0 1.3 0.6 O o O O
2o |E2dH LT [z} 365 8693 03 0 0.0 0 0.0 1.2 0.6 ®) o O O
WHE™ (WRHETT W A 18 5 & $ P i) 363 8682 03 0 0.0 0 0.0 1.3 0.6 @) o O O
ESNUUIRE PN RARTREGERE L 2— 2] 364 8654 0.3 0 0.0 0 0.0 11 05 ®) o O O
WA™ |[HMA™ ik I 292 6926 03 0 0.0 0 0.0 1.0 0.5 O o O | O
=T |EWm e & iz} 364 8674 03 0 0.0 0 0.0 0.7 0.4 ®) o O | O




